mm_m os I or g og o lo74 qi ; 7 ¢ gl 0 g oy
172]
8°/Z= VANV LND|
22 GOG TC= ViV T TS
e [
e 4o'605= 13 Nois3a
o _ ) "
N T ioh -
3HA
z
3 o1 CIS
g
i
8|§
=3
i 2°08= YBYY 1nJ
°lz =05 ¥'Z= ViV T4 aUs
w0y
o
sl o2 86°60S5= 13 NoISI 0z
25 — TS > — TS -+
NN Al
|3 z
28
TTS oIS
- = vhuy 0o oo
05 £'6= vivv T3 =
0S g¢°01G= 3 NOIS3Q 0S
- Wﬂﬁﬂ? —r ] '
L o5 1 , . v L
TIG Sfxe
TOG 7 8T=VYRdv—1h TOC
0'l= vIdy T4
98 d9°01G= 73 N9IS3Q 98
+—10Tg = == o+
L Y L
SIS TTG
TOS 7=VEav—1in S0%
6'l= vidv T4
00 dr01e= 13 NoisIp /00"
z1 )0 _ o)
TTS TIg
[S{0}% TS ="VYREY—1I1O GOS
9'¢= vV T4
114 S2°019= 113 NOISIQ GZ
7 —— = T [S1E N
d %
Sxe *fie
TOS EE=VRIV 1N 5(6])
'e= V4V T4
05 49°016= 13 NoIS3y 0s
B R = L N
TIG TIC
oG Fee=yhuy 103 05
z0= viav 14 =
98 gr'0ls= 113 NoIS3Q 98
o = L
TS TTG
os gy oy g ot o qi ; 7 gl oz Se oy




